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In ancient times, Hieun Tsang , a Chinese traveller came to

India during the __ (1) __ of king Harsha . He praised the

Indians __ (2) __ “ people with pure moral principles .” In 2014

, Indians __ (3) __ 85th in he corruption perception index of the

Transparency International . What __ (4) __ downfall !

Q1. (a) Vigour (b) Authority (c) Command (d) reign

Q2. (a) by (b) like (c) such (d) as
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In ancient times, Hieun Tsang , a Chinese traveller came to

India during the __ (1) __ of king Harsha . He praised the

Indians __ (2) __ “ people with pure moral principles .” In 2014

, Indians __ (3) __ 85th in he corruption perception index of the

Transparency International . What __ (4) __ downfall !

Q3. (a) ranked (b) graded (c) piled (d) bunch

Q4. (a) the (b) any (c) some (d) a
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Isn’t it ironical that we Indians __ (5) __ by the ideals of

honesty and integrity , self-denial and __ (6) __ but in practice

willingly resort to the __ (7) __ forms of corruption to promote

our interests ?

Q5. (a) declare (b) Assert (c) swear (d) affirm

Q6. (a) prejudice (b) omission (c) erosion (d) sacrifice

Q7. (a) vilest (b) vile (c) viler (d) more vile
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The__ (8) __ of corruption is eating into the __ (9) __ of our

society and we have become helpless __ (10) __ of our own

degradation .

Q8. (a) malaise (b) despair (c) deficiency (d) mine

Q9. (a) vitals (b) threats (c) imperative (d) necessity

Q10. (a) performers (b) scorers (c) onlookers (d) visible
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Q1. Identify the segment in the sentence which contains
the grammatical error.

Neither Ramesh nor (a) / Suresh has (b) / done their
(c) / work properly .(d) / no error (e)
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Q2. Identify the segment in the sentence which contains
the grammatical error.

My uncle (a) / and his friend have (b) / left for (c) /
Mumbai last saturday .(d) / no error (e)
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Q3. Identify the segment in the sentence which contains
the grammatical error.

Million of (a) / people have (b) / joined the (c) /
campaign .(d) / no error (e)
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Q4. Identify the segment in the sentence which contains
the grammatical error.

He not only cheated (a) / his friends ,(b) / but also (c)
/ his parents .(d) / no error (e)
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Q5. Identify the segment in the sentence which contains
the grammatical error.

When Darrun heard the news (a) / that his father had
been hospitalized (b) / he cancelled his trip and (c) /
returned back to his village .(d) / no error (e)
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Q1. Select the most appropriate synonym of the given word.
RETRENCHEMENT
1. enlargement
2. expansion
3. extension
4. reduction
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Q2. Select the most appropriate synonym of the given word.
REVAMP
1. fix
2. freeze
3. renovate
4. stabilize



21

Q3. Select the most appropriate synonym of the given word.
SECTARIAN
1. dissident
2. cosmopolitan
3. liberal
4. tolerant
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Q4. Select the most appropriate antonym of the given word.
SMATTERING
1. bit
2. army
3. little
4. modicum



23

Q5. Select the most appropriate antonym of the given word.
SPUR
1. counterincentive
2. stimulate
3. encourage
4. prompt
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Q1. Select the most appropriate word to fill in the blank.
Today student should be reconciled ______ the way things are
changing .
1. For
2. at
3. with
4. to
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Q2. Select the most appropriate word to fill in the blank.
In a classroom students are to be trained to love ______ .
1. One another
2. altogether
3. Each other
4. All others
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Q3. Select the most appropriate word to fill in the blank.
You have all come well prepared . I ______ you to pass
this exam .
1. hope
2. expect
3. wish
4. except



28

Q4. Select the most appropriate word to fill in the blank.
A ______ of Japanese artists stepped off the coach amidst warm
welcome .
1. bank
2. troop
3. gang
4. troupe
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Q5. Select the most appropriate word to fill in the blank.
She was relieved to hear from the doctor that the tumor was not
malignant ; it was ______ .
1. discovered
2. sizeable
3. exposed
4. benign
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Q1.
They believe that Capitalism is not the best economic
system .
1. Not a good
2. Not a better
3. Not a best
4. No substitution
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Q2.
The speaker is now referring to the persons who I was
seeing in the front row .
1. Who I see
2. Who I’m seeing
3. No substitution
4. Whom I see
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Q3.

In spite of being very young , the knowledge of my talented
brother is extraordinary .
1. My talented brother has knowledge that
2. knowledge of my talented brother’s
3. the knowledge of my talented brother has
4. No substitution
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Q4.

She has only one colleague , Mr. Sham and he is more
superior than her .
1) She is more superior to me
2) She is superior than me
3) She is superior to me
4) no improvement
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Q5.

Many a persons were invited by him in the party .
1) a persons was
2) a persons are
3) a person is
4) no improvement


